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Problem 1:

Write a program that allows the user to input the winning face of a tossed coin, head or tail, (1 for head 0 for tail). The program should randomly toss the coin of two players and saves the result if its head or tail. If the tossed face is equal to the winning face entered by the user then the player of this result wins. Else, if both players get same results then the game should be restarted again.

Example:

Enter the winning face(1 for Head and 0 for Tail): 1
Player 1:

Head

Player 2:

Tail

Player 1 wins!!
Solution: http://www.javaproblems.com/2012/11/java-problem-i-tossed-coin.html
Problem 2:

Write a program that reads a string in binary form from the user (i.e of the form "001010101") and returns the integer equivalent of the string (starting from right to left for the least significant bit). For example, "0101" is from right to left

(1 * 2^0) + (0 * 2^1) + (1 * 2^2) + (0 * 2^3) which is equal to 5. The output of the program should look as follows:
Please enter the binary string:

0001

The integer value is 1
Solution: http://www.javaproblems.com/2012/11/program-j-decimal-to-binary.html
Problem 3:

A prime number is a number that can only be divided by 1 and itself. The first twenty-five prime numbers are: 2, 3, 5, 7, 11, 13, 17, 19, 23, 29, 31, 37, 41, 43, 47, 53, 59, 61, 67, 71, 73, 79, 83, 89, 97. Write a program that prints the summation of all prime numbers from 2 to N where N is a value entered by the user. The output of your program should look as follows:

Please enter the value of N:

6

The sum of prime numbers from 2 to 6 is: 10
Solution: http://www.javaproblems.com/2013/12/calculating-sum-of-prime-numbers-in-java.html
Problem 4:

The greatest common divisor (GCD) of two integers is the largest integer that evenly divides each of the two numbers. Write an application that reads two integers from the user and then prints their greatest common divisor. Implement this exercise using Functions.

Solution: http://www.javaproblems.com/2013/12/calculating-gcd-of-two-numbers-in-java.html
